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Instructions:

Do not turn to the first page until you are told to do so.
® Remember to write down your team name in the space indicated on every page.

® There are 10 problems in the Team Contest, arranged in increasing order of
difficulty. Each question is printed on a separate sheet of paper. Each problem is
worth 10 points. For all problems only numerical answers are required.

® The four team members are allowed 10 minutes to discuss and distribute the first
8 problems among themselves. Each student must attempt at least one problem.
Each will then have 35 minutes to write the answers of their allotted problem
independently with no further discussion or exchange of problems. The four
team members are allowed 15 minutes to solve the last 2 problems together.

® No calculator or calculating device or electronic devices are allowed.
® Answer must be in pencil or in blue or black ball point pen.
® All papers shall be collected at the end of this test.
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1. Can you come up with the nine pairs of positive integer numbers (X, Y) that
satisfy this equation ?
WRBFLTERHAEXNG IMEE, XY FEER, HFHEEFTHER (X, Y) 9B,

XY
— =10
X+Y
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2. Mrs. and Mr. Lin invited four married couples to a dinner party. In the party,
chairs were placed around an L-shaped table as shown in the diagram.
Mrs. Lin arranged the seating so that :

( 1) Every woman sat next to her husband. ( The arrows between the chairs
indicate that they are “next to ” each other. )

( 2 ) Every woman sat directly opposite to a man. (Dashed lines indicate chairs
are “ directly opposite to ” each other. )
( 3 ) Mrs. Lin sat to the right of Mr. Lin.

( 4 ) Mrs. Lin was the only woman who did not sit next to a woman.
In which chair—a, b, ¢, d, e, f, g, h, i, or j —did Mrs. Lin sit ?

otk fo K ABF Wt CAE KR — AN, BET, HFHRELL MR TER,
Je BT, MR ALHE AL T
(1) Hfz K KARG Hby L RARART A, (BAS ] 8947 K R~ AARGI T E )
(2) HAedoidfh —1{e G me, (REEGEXELAT “HE” &%, )
(3) KR KRB AL LN E,
(4) HMRKRAE—EF E L AR A,
HREAZELEQ b, ¢, d, e, f, g h i, ] POOR—IzE?
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3. A decoration comprises a symmetrical four-pointed star supported by

three threads. AB = CD. The decoration hangs in the centre of a small
circular window:

ALBABGE P, A ZF2REHT - AR LR A2 LI,
AB=CD

The central thread is 4 centimetres long, and the outer two are each 6
centimetres long. What is the width AB of the star ?

bREZEKARK, AMYAH6ERK, INYAZNTE ABAS Y ER?
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4. Natural numbers are picked up from 1 in ascending order. One natural
number is picked up for the 1% time, two natural numbers are picked up for
the 2" time, three are pick up for the 3" time, ..., when the 6" picking up
finishes, do the same according to the rule again. Please find the sum of the
2015 pick.

M1 FFAEd Bl KBIRF B B R B —RIR—AE, % RRFEAS, %R
EANEK, BWRBROANK, $ERBAENK, FARBANK, VB YRS: LRI
NS RI—A B, ZA, @A B4 SAFKXNEL#47, W E 2015
RIBEGF GG Fa R % 7

Answer
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5. The length of a side of dice is 12 cm and 10cm and they are displayed
left-justified as shown in the following figure. Each dice is arranged
according to the sequential 1,2,3,4,5,6,1,2, 3,4,5,6, ......

Following the pattern above, at a point somewhere,*“6 spot ”” of 12 cm
dice will be matched at the right alignment by the “6 spot ”* of 10 cm dice.
If you use the number of 12cm dice to count its position, what is the
dice’s position number for the first occurrence of the matched, counting
from the left?

FAKHA10 cm 98 FH12 om 998 Fa T BAFEIEKR, FFHAE £sgxb 57, &AF
BFI#B 1, 2, 3, 4, 5, 6, 1, 2, 8, 4, 5, 6, - XA S B HAEIR R
THEWZET L, AXL, 12 cm BFH6E2KFAL2510 com BT 6 54 0%%F 5,

4o R 12 cm BT NERATIAZE, F — R R AL 55 B F TR T4 ?
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6. As shown in the figure, the lines are parallel to each other respectively. It
is known that the area of the quadrilateral ABCD is 2015 cm? and that of the
quadrilateral EFGH is 1265 cm®. What is the area of the shaded portion?

4B, HEN, |, 1, LAl g L, |55 Z48-FF, 4ol # ABCD & @AR2
2015cm?, Y92 EFGH # @4r2 1265cm’, AR 4 B B0 6 BARZ S J 2
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7. From A to B, you can only turn right and go up, how many the shortest

distance are discovered?
MAF|B, REttEsRIE LA, KEGIKAZH L VA9

Answer
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8. In a lucky draws, the organizer prepared a treasure box which contained 5

ping pong balls. Every ping pong balls was labelled with number 1~5. Every
children that participated in the games, would drew a ball, recorded the
number and returned the ball into the treasure box. Then, the child would
make a 2" draw. The child would won the Disney Grand Prize when the 2"
ball was having a number that the value is greater than the first number
recorded in the first draw. What is the possibility that a child would won the
Disney Grand Prize?

L—NhRHFERT, TNERELZET AZEE, ZEZH5SEKIDHARGERER

A FEREFN B E1~5 858, BaRE5MBHERGINAAANRZEEHmE—%
K, BT, ZEeRAGEE, AAEEEZME —BEIK, FH RMWFRK
8952 KT % —RI B 6GREG 520 N AT SRAF L AT R R E K ¥, B #
LR R U Z LY

Answer




SJK (C) LICKHUNG

PERMATO
AYA L &) /f/ SEKOLAHBERPRESTASI TINGGI E Mathematics Olympiad System

Malaysia International Mathematics Olympiad Competition
2015

TEAM CONTEST
School(##) : Student ID ( 4w% ) :
Name (#&):

9. If you are an architect, planning to connect 6 islands with bridges. How many

different type of connection you can design? The rule is, every island must at
least connects with another island, with the condition where 3 out of the 6

islands have 3 bridges, 2 out of the 6 islands have 2 bridges and one of the island
has only 1 bridge ®nnected. (Your solution must in clude the example below.

Simultaneously, reversing the bridge direction in your answer does not count as
one solution.)

—RZ AR R A F LSRR A RE AR, EEMNISE S
HEEAT A B A8, MBI P =ANDEEH 3 BHE, 24088 H 2 BHE,
1A AR 1 ARRRE, FRA S VARG E (B8P TFFesE s )
S0 B B = ASASAE T 98 — AN B 180° BRAE T ik H A R R 6942,
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10. The distance between the school and the park is 43km. A, B, C, D four

persons were heading to the park from the school. A, B and C were having a
speed of 5km per hour, 4km per hour, 2km per hour respectively. D was
riding on a motorbike, with the speed of 20km per hour. He could took up a
passenger on his bike. How many hours is needed in order for A, B, C, D to
reach the park in a shortest time?

FRENAMIEAZNEZ, A, B. C. DWAMRFRELENR; A, B. C=ZAWF
TR E AN AE DS NE A NE 202, DBFEILE, IThk g R A0
20 AZ, BiEEETHE-AN, Fli WARFRENARYEES V107
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